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Attempt any ﬁve questions.
All questions carry equal marks.
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1. (a) Shyam, a partner of a firm constitutes a sub-
partnership with his two sons and a daughter with
his share in the main partnership. Shyam is
separated from his wife and is paying maintenance
to her. What is his tax liability on the income
earned from the main partnership and the amount
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of maintenance paid to his wife. Elaborate the law
and cases on this point.
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The expression “Winnings” occurring at the
inception of sub-clause (ix) in Section.2(24) is
confined to games of a gambling nature alone. Do

you support this view? What has been the court’ s
response i in this matter? -
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Define Agricultural income. What are the
conditions which are required to be fulfilled
before a process can be said to be a process within
the meaning of Section 2(1)(b)(ii) of Income Tax
Act, 19617 Discuss with case law.
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To attract the applicability of Section 2(1)(b)(ii)
the real market to be considered is the Indian
market and that the rest of the markets would be
merely “theoretical markets”. Do you support the

above observation? Answer with special reference
to Sakarlal Naranlal V. C.I.T. AIR 1965 Guj. 165.

R 2(1)(b)(if) 1 FITAEA R AFE FA ¥
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 Sakarlal Naranlal V. CLT. AIR 1965 Guj. 165

3. (a)
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Mr. Ramakant is the Karta of a Hindu undivided
family and has been living in Pakistan since
partition with his wife and two children. He
carries on business in Pakistan and owns a house
in India. He visited India on 30th November 2013
with an objective of investing money into
telecommunication business. After investment, he

" left India on 30th March 2014. Discuss the

residential status of Mr. Ramakant and HUF for
the assessment year 2014-15.
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(b) What are the conditions laid down in Section 6 of
the Income Tax Act, 1961 for deciding the
residential status of a company? State briefly the
law laid down in Vodafone International Holdings

B.V. V. Union of India (UOI) and Anr. (2012) 6
SCC613.
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- 4. The annual value of the property shall be chargeable
under the head “Income from house property” in the
hands of the owner. What do you understand by the.
term “owner” and how is the annual value of a house
property to be determined? Discuss with the help of
relevant sections and case law. .
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5. Distinguish between capital expendit‘ilre and revenue
expenditure. Determine whether the following
expenditure can qualify for deduction under Section
37 of the Income Tax Act, 1961:

(a) Payment for the purpose of removing the
restriction on the number of working hours with a

view to increase profits. N
(b) Expenses incurred with issuance of bonus shares. |
Substantiate your answer with relevant cases.
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6. (a) Mr. B runs a law firm. His wife had passed first
year arts from University of Delhi and was
- employed by him to manage the firm on a monthly
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‘'salary of Rs. 70,000/-. The taxing authorities

included her salary in the total income of B on the
ground that she did not possess the requisite
qualification and the "remuneration was high
having regard to her qualification. Mr. B, on the
other hand, pointed out that his wife had rich

~ experience and _ knowledge which eventually

‘helped him to manage the firm. Discuss whether

Mr. B can claim the benefit of the proviso to Sec.

64 (1)(ii).

. (b)

Support your answer with decided cases.
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Mrs. Y, made certain cash gifts to her husband,
which he invested into some interest yielding
securities. The interest realised on securities was
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included in the income of Mrs. Y by the income

tax department, which was objected to by Mrs. Y.

Discuss and decide whether the action of assessing
officer is correct.
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7. (3)

(®)

Discuss the judicial interpretation of the word
“asset” in section 46(1) and (2). Support your
answer with relevant case law.
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‘Examine in the light of the decision by the
Supreme Court in CIT. V. Rajendra Prasad

‘Moody (1978) 115 LT.R. 519 (SC) whether the

making or earning of income is a sine qua non to
the admissibility of the expenditure under Section

57 (iii)- | |
CLT. V. Rajendra Prasad Moody (1978) 115

LT.R. 519 (SC)ﬁsaanrqmmmmnﬁ
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8. Write short notes on any two of the foliowing:
(a) Perquisite‘
- (b) Bad debts
(c) Heads of income are mutually exclusive.
frafafaa & ¥ el @ W dfdw feooit fafa:
(a) wiforat | |
(b) T FW .
(c) 3 F ¥ WeR srvafa € .20
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